
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

7 R Side Plate LH10-1517 L11

7R Undertruss10-120612

7 R Side Plate RH10-1517 R13

Extended Dual Tube 12-201210-102924

Saddle Conv. 10-180025

300 Saddle10-101126

400 Saddle10-101327

1

1

2

2

A A

B B

Side Mount Duals

John Deere

7200R , 7215R

7230R , 7260R , 7280R

Bolt List

QTY Description

Placment

10 20 mm x 70 mm x 10.9 Bolts Side Plate to Tractor

8 20 mm x 55 mm x 10.9 Bolts Side Plate to Tractor

18

20 mm Hardened 

Flatwashers

Side Plate to Tractor

24

3/4 x 2 1/2  Bolts

Undertruss to Side Plate

12 1 x 3 Gd 8 Bolts Side Plate to Tube

28

1 x 2 1/2 Gd 8 Bolts

Side Plate to Tube

40 1 in Lock Washers

40 1 in Nuts

12

3/4 x 2 1/2 Bolts

Conv. to Saddle

4

3/4 x 7 x 9 Ubolt

Tube to Conv

44

3/4 Lockwashers

44

3/4 Nuts

4

Nylon Straps

Front

1

2

3

4

5

6 or 7

Price List
300 gal w/Tanks $9402.00 

400 gal w/Tanks $10,080.00

Limitations may apply.  Please consult API 
Sales at 800-288-1117.

300 ID:  JD-7R-1113-SMD-300R
400 ID:  JD-7R-1113-SMD-400R


